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i) General Awareness

In India Governor of a state is removed
by

(A) Parliament

(B) Central Government

(C) President

(D) Chief Minister of a respective state

The Asiatic Lions are only found in
(A) Panna National Park

(B) Gir National Park

(C) Salim Ali National Park

(D) Sariska National Park

Arrange the following mountain hills of
Western Ghats from North to South.

(A) Munnar - Ooty - Sindhudurg - Kuduremukh
(B) Sindhudurg - Kuduremukh - Ooty - Munnar
(C) Kuduremukh - Ooty - Munnar - Sindhudurg
(D) | Kuduremukh - Ooty - Sindhudurg - Munnar

Which of the following is not a Palaeolithic
site of India ?

(A) Bhimbetka caves

(B) Hunsgi caves

(C) Kurnool caves

(D) Barabar caves

In which of the following Indus civilisation
sites, the Grate Bath structure is found ?

(A) Harappa (B) Mohenjodaro
(C) Kalibangan (D) Dholavira

Bharat Ratna Awardee, a Cultural Icon of
India Bismilla Khan is associated with

(A) Sarod (B) Sitar
(C) Shehnai (D) Tabala

Buddha and Mahavira were belonged
to which one of the following
Mahajanapadas ?

(A) Magadha
(C) Vajji

(B) Ujjain

(D) Kosala

8.

10.

11.

Article 14 of the Constitution ensures
citizens of India having

(A)
(B)
(©)

Right against discrimination
Right to privacy

Right to get free and compulsory
basic education

(D) Equality

Consider the followings.

1. Opening up of Payment Banks
2. Nationalisation of Banks

3. MUDRA loan Scheme

4. Atal Pension Scheme

Which among the above programmes
is/are the part of Financial Inclusion
Process 7

(A) 2 only (B) 1,2and 3
(C) All the above (D) 2,3 and4
Match the following particulars of the
Constitution of India with their Parts.
1. Fundamental Rights a. Part—3
2. Directive Principles b. Part —2
3. Citizenship c. Part —4
Select the right code given below.
i 2 3
(A) b
(B) c
(C) b
(D) a

c
b
a

0o 0 o W

b

Which of the following Article of the
Constitution provides for the abolition
of child labour in India ?

(A) 16 (B) 17
(C) 25 (D) 24
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c
b
a
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Most modern Indian scripts have
developed from which among the
following script ?

(A) Sanskrit
(C) Greek

(B) Brahmi
(D) Dravidian

Which one of the following vitamins
helps in maintaining our skin healthy ?
(A) Vitamin A (B) Vitamin C
(C) Vitamin B-12 (D) Vitamin E

Dietary fibres are very much required in
our daily food , because

(A) To provide extra protein

(B) To balance the insulin secreted by
pancreas

To help our body get rid of undigested
food

To decrease tiredness

(C)
(D)

Followings are the processing activities
of various sectors; match them with their
raw materials.

a. Ginning 1. Sheep wool

b. Seasoning 2. Cotton

c. Shearing 3. Leather

d. Reeling 4. Silk

Select the right code given below.
a b c d

(A) 3 2 4 1

B) 2 3 1 4

C) 2 3 4 1

(D) 4 3 1 2

Condensation process refers to

(A) Conversion of water into water
vapour
(B)

Conversion of water vapour into
solid form

(C)

(D)

Conversion of water into solid form

Conversion of water vapour into its
liquid form

17

18.

19.

20.
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In plants, the process in which water
comes out of leaves in the form of
vapour is known as

(A) Imbibition

(B) Osmatic pressure
(C) Transpiration
(D) Viscosity

Consider the followings.
1. Water
2. CO,
3. Sunlight
4. Chloroplast

Out of the above elements, to be required
to occur photosynthesis is/are

(A) 1,2and 3

(B) 2,3and 4

(C) 2and 3 only

(D) All of them

Which of the following organelle is

responsible for synthesising of proteins
inthe cell ?

(A) Golgi apparatus

(B) Ribosome

(C) Lysosome

(D) Nucleus

Which of the following is /are examples
for symbiotic association ?

(A)
(B)

(C)
(D)

Algae — lichen
Plant roots — rhizobium bacteria

Both are right
Both are wrong
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if) General Intelligence and Reasoning Ability
21. Complete the analogy, 25. The number of terms in the series
GOAL : HPBK : : POST : ? 1,8, 11,16, - .; 101is
(A) TSOP (A) 19
(B) 21
(B) QPTS (C) 23
(C) STPO (D) 25
(D) QPST 26. Find out the missing term from the given
alternatives.
22. Complete the analogy, 9:8::16: 7 cd, xw, gh, ts, ?
(A) 27 (A) st
(B) 18 (B) ts
(C) Kk
(C) 17
(D) sr
(D) 14

27. Pointing towards a person in a
23. Select the word which is least like other photograph, Anjali said, “He is the
only son of the father of my sister's

words in the group.
S brother”. How is that person related to

(A) Lake Anjali ?

(B) River (A) Mother

(©) Wind (B) Father
(C) Cousin

(D) Current
(D) None of these

24. Select the numbers which is different 28. Q's mother is sister of P and daughter

from others. of M. S is daughter of P and sister of T.
(A) 751 How is M related to T ?
B (A) Father
(B) Aunt
(C) o981 (C) Uncle
(D) 853 (D) Grandfather or Grandmother
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if) T i qen @fdhe araa
21. WUETAT U1 A, 25. 4@l 1, 6, 11, 16, . . ., 101 § T&1 H
GOAL : HPBK : : POST : 2 HEAT ?
(A) TSOP (A) 19
(B) 21
(B) QPTS
(C) 23
(C) STPO
(D) 25
(D) QPST .
26. feu mu famredl § € o e 3 o |
22, GUETAIEI S, 9:8::16: 2 cd, xw, gh, ts, ?
(A) 27 (A) st
(B) 18 (B) ts
(©) 17 (C) K
(D) sr
(D) 14
_ 27. e fua 1 um =afa 1 ST eha R BT
23, 9% Iee g 511 TYE % wTeh! yIsal & e il X e, D A T % o R &
4 e 2 | FoheiIa 93 © | 98 A 3fsifcr & e wenm
(A) e Hefta e ?
B) e (A) ®IdT
:c; . (B) fuan
(C) ==T WTg
LR (D) wH & F T
24. TEEEAT I HL S gE A = T | 28. Q& Tl P 1w o M F G 2 |
(A) 751 S, PHIER R THhiwea? | M, T Frm
YR deited g ?
(B) 734 (A) o
(C) 981 (8) ==
(C) ==
(D) 853 (D) 1 41 Tt
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29. Reena is twice as old as Sunita. Three | 32. Pick out the different one.
years ago, she was three times as old (A) Cytology
as Sunita. How old is Reena now ?
(B) Palynology
(A) 6years
(C) Phenology
(B) 7 years
(D) Entomology
(C) 8years
33. Which cube cannot be made based on
(D) 12years the unfolded cube ?
: [l
30. There are 36 cows in a herd, 20 are A
white and 28 are brown. How many
have both the colours ? O
(A) 12
(B) 10 L7
(A) [ A
(C) 14 '
L S
(D) None of these B) | A
@)
31. Paper below is folded into a cube. What © | Al
alphabet will lie opposite to Q ?
s/
Q O [A
Ol P T . i . :
34. Increasing the original price of an article
N by 15% and then increasing the new
M price by 15% is equivalent to increasing
the original price by
(&) L (A) 32.25%
(B) M (B) 31.00%
(C) N (C) 30.00%
(D) P (D) 22.50%
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20. I g a2 Idadqd, = | 32, wden fmm wiftw |
1 et & < T A oft | B ol ey o (A) wifsrept fogm
foet 8 7 (B) Sirame fesm
(A) 699 (C) Fgstfarshi
— (D) e femm
©) sa¥ 383. wH-u1 =9 form W12 g¢ = w anana
?
(D) 12 i
; L]
30. UH WHE § 36 T &, 20 Gke 3K 28 A
g8 | fhat T ST o § & 7 O
(A) 12
(B) 10 5]
(A [A
(C) 14
. . AT
31. e mn e = S e e e | o
Q¥ Rt a1 3er 2 ? ©1AP
AW
Q ®) [A @
oO|P|L
N 34. Uk % F1 A 4T 15% 9o A 3R Tu
M T 1 15% 3N g B 98 56 0o 5
o SIS B |
(A) L
(A) 32.25%
(B) M
(B) 31.00%
& N (C) 30.00%
(D) P

(D) 22.50%
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35. The figure which can be formed from 38. Find the mirror image of the word

the pieces A Bq s INSTITUTE.

A) (A) ITUTITEWI
(B) TIUITETWI
(B)
(C) M2TITUTS
L
() \ (D) ITUIT2UIZ
(D)

36. Findthe number of triangles inthe given | 39 Which of the following diagram indicates
figure. the best relation between Profit, Dividend
and Bonus ?

(A) 8 (B) 10 (B)
ey 12 (D) 14

37. In the past, consumers would rarely (C) @

order low fat ice cream. But now a days
increasing health consciousness has
made low fat ice cream a very profitable (D)
item for ice cream store owner. This
paragraph best supports the statement

that

(A) low fat ice cream produces more | 40- A, P, R, X, S and Z are sitting in a row.
revenue than other low fat foods S and Z are in the centre. A and P are

(B) ice cream store owners would be at the ends. R is sitting to the left of A.
better off carrying only low fat ice Who is to the right of P 2
cream

(C) low fat ice cream is more popular (A) A

than other kinds of ice cream ®) X
(D) ice cream store owners no longer
think that low fat ice cream is an (C) S

unpopular thing

(D) Z
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(C)

\
74
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(D)

37.

(A) 8
C) 12

(B) 10
(D) 14
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38.

39.

40.
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INSTITUTE =t arjor wfafera 2
(A) ITUTIT2UI

(B) TIUIT2TMI

(C) MeTITUT3

(D) ATUIT2UIZ

Fafefaa 1 @ FH-ar sma e, e
3R S8 § Faiferes deat 99y g9id & 7

o

g

A P,R X, SR Zu#x dfm 8 &3 2 |
SIMZHsHe |IAMPIRI®E IR A
% ST 2, P % 3T #1331 8 ?

(A) A

(B) X

C) s

(D) Z
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iii) Arithmetical and Numerical Ability
41. In a survey of 60 people, it was founda | 46. Six bells commence tolling together

that 25 people read newspaper H, and toll at the intervals of 2, 4, 6, 8,
26 read newspaper T, 26 read 10 and 12 seconds respectively. In
newspaper |, 9 read both H and |, 30 minutes, how many times do they
11 read both H and T, 8 read both toll together ?

T and |, 3 read all three newspapers.

Find the number of students who read () $0kimes (B) 12times

exactly one newspaper. (C) 15 times (D) None of these
(A) 22
47. Value of
(B) 30
(C) 25 [xa ]32+ab.¢b2 [xb ]b2¢b6+62[xc ]02+EIC|—32 |S
(D) None of these x° x° x*
42. Forallne N, 3.52"+1 4 23n+1 g (A) 0 (B) 1
divisible by ©) xa3+b3+c3 ©) i
(A) 19 (B) 17
(C) 27 (D) 25 48. If o, P are the roots of the equation
43. A man accepts a position with an x2 — 7x + 20 = 0 then i2+i2 IS
initial salary of ¥ 5,200 per month. it o P
is understood that he will receive an -9
automatic increase of ¥ 320 in the very (A) 1 (B) 200
next month and each month thereafter.
Find his salary for the 10" month. 9 7
(A) % 10,200 ©) 700 ) 700
B) 9,000 . :
®) . 9 49. Find two numbers whose sumis 32 and
(g) B'OBOf s product is 256.
N thes
AP RLI R (A) 16, 18 (B) 16,16
44. HCF of 108, 288, 360 is (C) 20, 12 (D) None of these
(A) 36 (B) 18
50. A father is 28 years older than his son,
D) 72
€2 ©) after 5 years the father's age will be
45. The product of two numbers is 19200 7 years more than twice that of the son.
and their HCF is 40. Find their LCM. Find the present age of father.
(A) 400 (B) 240 (A) 44 years (B) 49 years
(C) 300 (D) 480 (C) 40years (D) 35years
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iii) SrERTTUTE Ua HEaTene A

60 ST % Tk TELT H, FE T T
25 AN GHERYS H 9ed o, 26 RN
T, 26 TR |, 9 AT H 37T | g1, 11
TRT H 3R T2, 870 T 391 1 21, 3 waft
AT THTERYT Ygd o | 39! 6 9
ST el Ush GHTERE 9 o |

(A) 22

(B) 30

(C) 25

(D) 34 | g &

Afine NFferm, 3.52n+1 4 230 +1
afosa |

(B) 17
(D) 25
Uk Afed W1 TR 949 T 5,200 SfGHTE

2192 31 & 5 9= wfowme T 320 1 Saaaf
T ST | S HIE ST A 37 5|

(A) 10,200

(B) % 9,000

(C) %8,080

(D) ¥ & =ig e

108, 288, 360 %1 7HY &
(A) 36 (B) 18
C) 9 (D) 72

(A) 19
(C) 27

3 FE@SHT T PHEES 19200 ® 3R TE9
40 2| IFHT FEY T e |

(A) 400 (B) 240
(C) 300 (D) 480
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47.

48.

49.

50.

B: Gl Th G0 F9H1 IE Fat & 3N
2,4, 6,8, 10 31T 12 Hhe FHI1: & Iaua
WSSl & | 30 fie |, 9 frat I
1y st 7

(A) 10ER (B) 12%W
(C) 159K (D) 78 & =S T
a az-l,abeb‘? xh D2i-b{:4cz xc 122"334-32
& E
FHH 8
(A) 0 (B) 1
(C) xa3+b3+33 (D) -1
afe o, B HHEHTT X2 — 7x + 20 = 0 HeA
5 4.5
ﬁ,?ﬁ ?+B—2%
| -9
(A) 1 (B) 200
C) — D) !
A1 HEITE 1 =L TS AT 32 37k
THRA 256 2
(A) 16, 18 (B) 16, 16
(C) 20, 12 (D) 374 | IS e
e a1 71 I o 37 @ 28 9 sifer

21 5 &Y wwEa e i oy T o 3
A 79 e 2| fore o et oy
1A |

(A) 4439
(C) 4034

(B) 49 a4
(D) 3594
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52.

53.

54.

55.

If the interest on T 800 be more
than the interest on ¥ 400 by T 40 in
2 years, find the rate of simple interest.

(A) 6% (B) 7.5%
(C) 5% (D) 10%
A train runs at a speed of 28 kmph for
4 hours and 30 kmph for 5 hours and

the remaining 40 kms in one hour. What
is the average speed per hour ?

(A) 31 (B) 32
(C) 30.2 (D) None of these

The average age of Ashok and Abdul is
45 years, the average age of Abdul and
Anthony is 50 years and the average
age of Anthony and Ashok is 35 years.
Find the age of Ashok.

(A) 35yrs.
(B) 25 yrs.
(C) 30yrs.
(D) None of these

A student has to score 50% marks to
pass. He gets 100 marks and yet fails by
50 marks. Find the maximum marks.

(A) 300 (B) 150
(C) 250 (D) None of these

A person spent 30% of his wealth and
thereafter ¥ 20,000 and further 10% of
the remainder was spent. If ¥ 29,250 is
still remaining, what was his total wealth
value ?

(A) ¥ 1,00,000
(B) % 75,000

(C) ¥ 65,000

(D) None of these

-14-
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The difference between the cost price
and the selling price is 225. If the profit
percentage is 15%, find the selling
price.

(A) % 1,500
(C) 1,725

(B) 1,000
(D) None of these
A and B can do a piece of work together

in 7 days. A alone can do it in 10 days.
How long will B alone take to do it ?

(A) 794 days
(C) 21 days

(B) 22 days
(D) None of these

A man walking % of his usual speed,
reaches a destination 30 minutes
late. Find his usual time to cover the
distance.

(A) 2 hours

(B) 2 hrs. 30 mins.

(C) 2 hrs. 20 mins.

(D) None of these

Three persons A, B, C completed a job.
A worked for 5 days, B for 7 days and
C for 9 days. Their daily wages were in
the ratio4 : 3: 2 and their total earnings

amounted to T 1,180. What was the
daily wages of A ?

(A) T80
(C) 50

(B) ¥60

(D) 100

A railway train 100 metres long is
running at a speed of 30 kmph. In what

time will it pass a man standing near the
line ?

(A) 10 Secs.
(C) 8 Secs.

(B) 12 Secs.
(D) None of these
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85:

afe 2 991 § ¥ 400 W 4TS @ T 800 WA
3 40 3feeR 8, O ATEROT A T S Fi
Gy

(A) 6%
(C) 5%

(B) 7.5%
(D) 10%

T ot 28 for. Y. ufe =er i afa &
4 T2 et & T 30 F.HY. wfg w2
F1 ufa & 5 g2 gigdt 8 ST«
40 for =1, i = il = 9 w g2 diedt
?| wfq =er i 3fied i w=n e ?

(A) 31 (B) 82
(C) 30.2 (D) =TH | g A&

ST 37 3Teget <1 it 1Y 45 W 2,
Y55 S U <l 37ied 3717 50 39 2 3R
TerfHt 3TN I79TTR Y offHa 3Ty 35 99 2|
ST i 377 [T il

(A) 3539 (B) 2574

(C) 30 (D) 3TH | =i T&l

u fammeff =1 3l B9 % fT 50% 31
Tifeu) 38 100 3% fae@ 2 9 of 9=
50 3Tehi | STV &1 ST & | SAfHehaT i
1A i |
(A) 300
(C) 250

(B) 150
(D) ¥H | I3 T

U =afa 319 Hale o 30% @ T e
3R 3G 912 T 20,000 37K =E § 919 =
10% = T 21 Ffe T 29,250 31sft off s
2, 1 3wl FI Fufd e off ?

(A) ¥ 1,00,000

(B) ¥ 75,000
(C) 65,000
(D) 8 & 1S TE
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9 qod 3N T goa § 225 &1 3T 2|
;i?amuﬁmms% &, a1 fosa 7
|

(A) ¥ 1,500 (B) % 1,000

(C) Z1,725 (D) 30 & IS TE]
A 3T B Ush & 1 7 f&=1 § =t wehd 2
3Rt A 38 10 a1 & = WehaT 21 B
3Rl 38 o B ToRae awe o 7

A 1% fa  (B) 22fF

(C) 21T (D) & ¥ =I5 7&

T =f A g e % Y A 5 @
? | U 87 a% 30 fie S & ugaan 21 gl

T A = EHE I 319 i
(A) 2% (B) 2%e 30 fiFme
(C) 2% 20 fie (D) = & 1S &

i =afad A, B, CH T e qof fopam| A
5 fa = ferm, B 7 f&7, C 7 9 T &
o | 3h1 e wTadl 4 : 3¢ 2 % T
R oM eh T AW 1,180 2 A H
S ek Tegd W B 7
(A) %80

(C) %50

(B) %60
(D) %100

100 1. =il vsh Tt 30 foh . ufe wen
1 7T | Sredt 81 98 T2 & e T U

e ot fohat & J R s ot 7
(A) 10 Secs. (B) 12 Secs.
(C) 8 Secs. (D) 39H § g TEl
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iv) Hindi Language and Comprehension

=t wrwn sk =y
T 8 91 IS I I yeariw e 7 | 66, HIg + 3fE v wirey @
(A) & (A) wraifFd (B) HrHfF
(B) W (C) =rEfEd (D) wrEifEa
(C) = 67. TH © HE1 II58 ‘G I7s8 T A
(D) =husT T 7
(A) 39 (B) Frsr
HEH I8 1 faretim wreg & (C) =m (D) 3T
&) g? 68. T’ YIs I dawT B
(B) (A) AT (B) M
(C) ¥« (C) =m (D) T
D)
i 69. diam=R yiee # HaT THE R 7
iefist ST T e S 8 7@ e A (A) wEsife (B) srewfva
T B (C) =HHuRy (D) fam
(P 70. TR A GHET GEral 1 379 2
&) o (A) &T e Tl B
(C) # 3 (B) & FH BT
(D) wriefrsht (C) WM I el ST
(D) W& &= B
ffm%'mmﬁmé 71. R e e R |
(27) (=)
(B) =13 a. ©g & 1. 3BT
(Gl e b. e fiem BRT 2. T B
(D) &= c. UNg AT 3. WY BA
d. &1 & 4, =L IZME
ﬁa‘é%@aﬂaé;aaﬁfélsﬁmﬁ%m e. Uelh fBF 5. IHyde @
' T
(A) 31w a b ¢ d e
(B) Hwdsh A3 2 1 4 5
(C) ITTFIFH (B) 1 2 3 4 5
€ 3 2 4 1 5
(R) s ki D1 5 2 3 4
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‘TR’ ¥1e< o1 379 2

(A) Toresht =) w8d g &l
(B) S w1 U

(C) Irgfad =T % fom g
(D) R & Foram T amE

ﬁ%ﬂ:ﬁ%ﬁﬁ?::ﬁﬂ'ﬂ':
(A) =HITEA

(B) =M

(C) =l

(D) =HR

F{Etﬁ@—afﬁ% : :QETI"GT—E‘T
(A) TS (B) T=md
(C) T=mmad (D) T=T

Ieh! HEAEE ST geaee Tt o) e |
38 AT H A B

(A) TEpURE

(B) 3Iuh

(C) e

(D) Temeft <1

el H-ofit T3 9T 31 W | | I
fora foriom 2

(A) 21 T

(B) et

(C) &M

(D) efit-#fik

St : Sfiem ; ; fear .
(A) fau=
(B) fafém
(C) fae
(D) fayw
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Siiget foifi |

() (=)
a. Yd & 1. H =1 g1 §
b. W= w2, ¥ @ A
c. 90HF A 3. o g 2

a b c
A2 3 1
B 2 1 3
€1 3 2
M 3 2 1
FHE et yree & e T |
(A) s
(B) 3w
(C) 3r=en
(D) &
f=ferfaa TamEl i 39 e aet &
1 Sy |

(37) (=)
a. TEETE 1. WA
b ey 2. UHITH
c. &8 3. qHel
d. wgsiife 4. FHGHH
e. ﬁﬂ 5. @®MA

a b c d e
(A2 4 1 3 5
B4 2 1 5 3
€ 2 1 4 3 5
@2 4 1 5 3
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v) English Language and Comprehension
TSR e SR A
Fill in the blanks with appropriate Select the correct phrasal verbs.
prepositions. .
85. Please don't our conversation.
81. men, many children were (A) Break in
present. :
(B) Break into
(A) Beside :
o et (C) Breakinon
esides
) (D) Break out
(C) In
(D) None of the above 86. We had to‘ pom{dered milk
as fresh milk was not available.
82. They marched the street. (A) Fall back (B) Fall back on
(A) in (B) into (C) Fall out (D) Fall off
(C) at (D) by o
Select the appropriate figure of speech
Change the voice. from the given options.

83. Why did your brother write such a letter ? | 87. The whole city went out to see the

(A) Did your brother write such a picfiods sctiela:

letter ? (A) Metonymy  (B) Pun
(B) Why your brother did write such a (C) Metaphor (D) Oxymoron
letter ?
(C) Why would such a letter is written | 88: Speech is silver, but silence is
by your brother ? golden.
(D) Why was such a letter written by (A) Synecdoche (B) Simile
your brother ? (C) Antithesis (D) Euphemism
84. Some boys were helping the wounded | Sglect the appropriate antonym of the
man. given word.
0ys is helping th d
(A) ic;r:e boys is helping the wounde 89. Circuitous
(B) The wounded man is being helped (A) Resolute (B) Direct
by some boys. (C) Purify (D) Stingy
(C) The wounded man was being :
helped by some boys. 29 Flgua _
(D) The wounded man will be helped () Biand £ stomi
by some boys. (C) Sure (D) Unclear

* -18-
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Select the correct option for the underlined 96. She lost her temper and began
word. shouting at me.
(A) On the spur of the moment
91. The child whom you were talking to is (B) Without rhyme or reason
my nephew. (C) In cold blood
(A) Relative pronoun (D) Ata stretch
(B) Reflexive pronoun Identify the below given sentences as
(C) Demonstrative pronoun simple, compound or complex sentences.
(D) Possessive pronoun 97. Whenever it rains, | feel a craving for
hot tea and fried snacks.
92. There is a brick wall surrounding the (A) Simple
house. (B) Complex

(C) Compound

(A) Qualitative adjective (D) None of the above

(B) Nominal adjective

98. |listened to the song and felt nostalgic.
(A) Compound

(D) Proper adjective (B) Complex

(C) Simple

(D) None of the above

(C) Emphasizing adjective

Use the appropriate article to fill in the
blanks.

Select the correct option of the present
93. The government has drawn up a plan participle in the given sentences.

to help unemployed. L
99. Arriving late, the show had already
(A) the (B) an begun.
(C) a (D) not needed (A) The show had begun when he
arrived late.
94. Birbal was wisest of the (B) Arriving late, he finds the show had
nine jewels in Akbar's court. already begun.
(C) Arriving late, he found that the show
@ (Ejman had already begun.
(C) the (D) not needed (D) He arrived late and the show had
begun.
Choose the correct idioms from the given
options. 100. Being a rainy day, | did not go out.
A) | di t ut as it was a rain
95. He gotinto serious trouble when the court &) dd[d noetge o e rainy
; ; ay.
declared his business agreement. _ _ _
(A) All and sundry (B) :ut:elng a rainy day, | did not go

(B) In black and white (C) Being a rainy day and | did not go
(C) A hard nut to crack out.

(D) Null and void (D) None of the above
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SECTION - B

Post Specific Subject-Related Questions

101. Which of the following occurs whenthere | 105. A childinits initial stages of development

is orderly and progressive changes in sees objects first.
a human being due to maturation and
experience ? (A) Small

(A) Development (B) Everything that is visible

(B) Increase in height alone
(C) Large
(C) Emotional abnormality

(D) Increase in weight alone (D) None of the above

102. Growth in a child refers to which of the
following ? 106. Genes and chromosomes transfer

aspects from the parents

(A) Qualitative changes

(B) Attaining oneness with oneself to the child at the time of conception in

the mother's womb.
(C) Physiological changes °

(D) Adequate nutritional intake (A) Nutritional

103. The direction of development in a child (B) Societal
from centre to periphery is called (C) Moral

(A) Cephalo-caudal

D) Heredita
(B) Proximodistal (D) ry

(C) Caudo-cephalic

(D) DistSproximal 107. Which of these is an external factor

influencing the growth and development

104. Which of these statements regarding of a child ?
the rate of growth and development in
a child is correct ? (A) Physical environment

(A) They are both uniform (B) Intelligence

(B) They are not uniform ) )
(C) Biologic factors
(C) Rapid changes occur in old age

(D) Development ceases at (D) Hereditary factors

adolescence
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Tiee Tt fawa - gas aw

Frferfiga 8 @ -1 g & St uftes
T ITTHE o HIT AT T Shitah TR it
qiEH B & 7

(A) Tasm=

(B) 31het HETE | gfg

(C) HTEATCHeh STETHT=IA!

(D) et YR ¥ gfg

T s i gig ¥ Frefarfaa 3 @ wb-an
qeia 2 ?

(A) TmTeHeh giEd

(B) 319+ T UehlcHehdl T T

(C) e uiEds

(D) TAT IO &1

Tk STeTh oh ohg d 9T TR faepm < faom
FHea! ¢ |

(A) fara-wiga

(B) &g A R

(C) whist-ferkfers

(D) ¢ ¥ &=

T ST H§ ghg 7R e it @ S way
AR dHa-THIE a8 7

(A) ¥ i TH &I E

(B) ¥ qHi UH ¥Y T B

(C) FgraE ¥ i uftada & &

(D) fersmrraeen ® fawem & Sia @

105.

106.

107.
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(A) B
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(C) =&t
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(A) TR

(B) T

() A=

(D) 3NTERR
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The physical and mental health of

the mother during pregnancy is a/an
factor that influences the

growth and development of a child.

(A) Internal

(B) External

(C) Immaterial

(D) Ilrrelevant

Which of these ages come under the
category of later childhood ?

(A) 2-6 years

(B) B6-12 years

(C) 1-6 years

(D) 12-15years

At which month can a child jump in place
and balance ?

(A) 12 months

(B) 6 months

(C) 24 months

(D) 18 months

Which of these is an advantage of
activity-based learning ?

(A) Provides opportunities to use

multiple senses

(B)

Focus is on learning from the point
of the teacher's perspectives

(©)
(D)

Minimises creativity

Prevents contextualization

112.

113.

114.

115.
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Cooperative learning emphasizes
among the participants.

(A) Learning by rote
(B) Individual excellence
(C) Interdependence

(D) No accountability

Which of these is true ?

(A) Children are passive recipients of

information

(B)

Children learn best through class-
room teaching

(C) Learning among children is never

long-lasting

Children are active learners

(D)

Which of these is not a creative
expression technique used in enhancing
learning experience for students ?

(A) Music

(B) Rote learning

(C) Writing

(D) Puppetry

A teacher who practices a good mix
of creative expressions with other

approaches, encourages children to

have thinking.

(A) Convergent (B) Divergent

(C) Minimal (D) Short-term
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(B) =R

(C) Hugrd
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T 9 - 377 Terel| sershiet 1 30f
At e 7

(A) 2—-6T4

(B) 6—1279%

(C) 1—-69d

(D) 12-1549

Tore ATE T ATeTeh 31T T U e Hehdl
I T ST Tehel1 8 7

(A) 127"

(B) 6TME

(C) 247m®

(D) 18Hm®

T A HH -G TR -3y e

THA S 7
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115,

-23-

GET IT ON
Google Play

MKG-XIIW/TECHPRT-II/1T/01

e S Ui o ofi=
TSR Gl R |

(A) TS BRI 37939
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(C) FafvTa
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(A) =2 g1 % w0 U B
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116.
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Which of these provide learning

opportunities to students in developing

analytical and communication skills ?
(A) Group discussion

(B) Infrequent assessment

(C) Writing from rote memory

(D) Didactic lecture

Which of these is a method of learning
in terms related to real-life activities
undertaken to solve an emerging or felt

problem in natural settings ?
(A) Play time

(B) .Homework

(C) Assessment

(D) Project

Small group discussions encourage

which of the following ?
(A) Active participation
(B) Interactive sessions
(C) Peer-based communication

(D) All of the above

119.

120.

121.

-24-
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Which of these are media resources useful
in the teaching leaming process ?

(A) Newspapers

(B) Paintings

(C) Exhibitions

(D) All of the above

Which of these is a merit of the teaching-

learning method known as project
method ?

(A) The experiences are hypothetical
and hence, is an effective short-
term learning method

(B)

It helps develop the discovery
attitude

(C)
(D)

It discourages divergent thinking

The emphasis is on individual
student achievement and not team
work

Society establishes schools to provide
the children of the society

education so that they would be able
to acquire necessary knowledge and
practical training of social values,
customs and traditions of society to lead
their life successfully.

(A) Informal
(B) Universal
(C) Non-formal
(D) Formal


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

i

116.

117

118.

Frafafea § @ wt-g1 faenfa =
TereeraomTees 3t T et el s
o AT AT ITTeH FHUAT 2 7

(A) T ==

(B) foret Fearieh

(C) ¥ & wfa ¥ fam

(D) Hifewer sarEE

T @ FH-H w serE Al yehs
et § ueh 3 aeft a1 sy o
HHE 1 B T4 o ToT0 Srefares sfae i
Tifa foferi o geia & sremm H a2 ?
(A) ©S &1 g9

(B) Tk
(C) Heamh
(D) 9T

Bl e =t Frafefea 4 @ 68 sem
adfig ?

(A) wfsra wfafiman
(B) AT=feRaT T
(C) THg 3 FuNy
(D) 3% &t

119.

120.

j21.

25~

GET IT ON
Google Play

MKG-XII/TECHPRT-II/1T/01

8 § -3 Hifem gunem g sregem
IiskaT § STR 2 ?

(A) THERTA

(B) fa=

(C) wezrht

(D) 3% |+

T @ F-wr gRae 5 F wv A

ST ST Felt - fAf i

fosteaT @ ?

(A) >y uierfcha & 3k safe o
T Y- Tafieh e #

(B) 7% @it ygfy =1 fopfm + o
YR Al &

(C) & 3ur fomm = Ry ar &

(D) u% faemeff i JafFas Iyeeh =
SR 2ot B 7 f6 &9 w

o7 S1eT sr==ii il Iuerey
FH % fore framerg wenfia s & @i 3
T ged, it il atgwedi @ o
TFA e & foru arasas SHer ok
TR TIRTET WIeq 3 T |

(A) U=

(B) wreifies

(C) R-3Nu=ies

(D) 3=t



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

% MKG-XIITECHPRT-II/1T/01
122 The firat form of schooling systeminthe | 126. Which of these is true regarding informal
Vedic period in India was known as education ?
(A) Tol (A) It has a fixed aim

(B) Patshala
(C) Gurukula
(D) Madrassah

(B) Involves an organized institution
(C) It has a fixed method of teaching

(D) It provides unconscious learning

123. Which of these statements is true ?

127. Which of these words mean ‘to train’ ?
(A) Schooling is the formal part of

education. (A) Educatum

(B) Education ends when the student (B) Educere

leaves the school. (C) Educare

(C) Education is close-ended. (D) Egress

(D) There are set boundaries on how
much education can be attained. | 128. Who among these educationalists

is credited as the originator of the
124. Who proposed the idea of bi-polar

process of education ?

(A) Sir John Dewey

kindergarten system ?

(A) Friedrich Frobel

(B) SirJohn Adam (B) Maria Montessori
(C) Swami Vivekananda (C) Heirich Pestalozzi
(D) Sri Aurobindo (D) John Dewey

125. Open universities would fall under { 129. Who among these thinkers wrote the

form of education. book, ‘Indian Philosophy’ ?
(A) Formal (A) Dr. Daulat Singh Kothari
(B) Non-formal ~ __ /

(B) Prof. Yash Pal

(C) Informal (C) Dr. Sarvapalli Radhakrishnan

(D) None of the above . )
(D) Gijubhai Badheka
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130, Socrates, Plato and Aristotie were 134, The 8™ Schedule of our Constitution
idealists. names Ianguages as the
major languages of India.
(A) Roman (A) 14
(B) Greek (B) 16
(C) Irish i) 20
(D) 22
(D) None of the above
135. According to Agnihotri, has
131. Ordinary people recognise language very close relationship with language
only as a means of proficiency, scholastic achievement,
(A) Communication cognitive flexibility and social
tolerance.

B) L '
(B) Learning grammar (A) Monolingualism

(C) Studying in school (B}, Bilingualism

(D) Using a dictionary (C) Trilingualism

132. At which age does a child develop his/ (D) Multilingualism

l?
herlanguage ? 136. Western countries are predominantly

(A) 8years __ withregard to language.
(B) 6 years (A) Dissimilar

(C) 4 years (B) Bilingual

(D) 1 year (C) Diverse

(D) Monolingual
133. All children are born with and an innate

eﬁdowment for language acquisition 137. Urdu, Bengali and Assamese belong to
consisting of Grafmar. ::hllsgi:f ;he following language families
(A) Universal (0 irdo-Afyan
(B) Dravidian

(C) Tibeto-Burman

(D) Articulate - ‘ (D) Munda

(B) Essential

(C) Linguistic
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138.

139.

140.

141,

Which among these correspond to the
number of language families in India ?

(A) One

(B) Two

(C) Three

(D) Four

In all Indian languages, there are
second words which is an ‘extra’ word
and has no meaning if used on its own

but sound similar to the first one. These
words are known as

(A) Couple words

(B) Share words

(C) Pair words

(D) Echo words

Nouns, adjectives or adverbs can be
repeated to create new words in all

Indian languages. Such words are
known as

(A) Pronouns

(B) Reduplicated words

(C) Echo words

(D) Common nouns

Children who are in the elementary school
are in which stage of development ?
(A) Formal operation

(B) Concrete operation

(C) Sensory motor

(D) Pre-operation

142.

143.

144,

145.
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Matching leads to understanding the
concept of

(A) Seriation

(B) Ordering

(C) One-to-one correspondence

(D) Counting

Second step of counting is of knowing

the number of objects in a collection.
This aspect is known as

(A) Subitizing

(B) Ordinal

(C) Comparing

(D) Cardinal

In which stage of cognitive development

in a child is abstract mathematical
concept likely to develop ?

(A) Concrete operation

(B) Formal operation period

(C) Sensory motor

(D) None of the above

is the form of reasoning
in which a general law or principle

is derived from a study of particular
objects or specific processes.

(A) Induction
(B) Deduction
(C) Cognition

(D) None of the above
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146,

147.

148.

A preconstructed formula or principles
are told to students and they are asked
to solve the different relevant problems
with the help of the earlier formula. This
method is known as

(A) Subitizing

(B) Cognitive process

(C) Inductive method

(D) Deductive method

In which phase of learning do the
students have an opportunity to get

directly involved with the phenomena
and materials ?

(A) Engagement

(B) Exploration

(C) Explanation

(D) Evaluation

Which step of the ‘Interpretation
Construction Design Model’ of learning
deals with encouraging students to

engage their minds through brainstorming
with their teachers ?

(A) Observation
(B) Contextualization
(C) Collaboration

(D) Cognitive apprenticeship

149,

150.

1317

152.
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Which approach to learning engages

participants in an activity, leads them
to reflect on the activity critically and
obtain useful insight and learning ?

(A) Experiential learning

(B) Collaboration

(C) Passive learning

(D) Observation

Which of these is the pivotal step in thé
experiential learning cycle ?

(A) Experiencing

(B) Publishing

(C) Generalizing

(D) Processing

Language that is learnt and used by
non-native persons is known as

(A) First language

(B) Second language

(C) Foreign language

(D) Multilingualism

At which age should a child be able to

make sensible prose out of four to five
jumbled sentences ?

(A) 6-7 years
(B) 3-4 years
(C) 1-2years
(D) 4-5years
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153.

154.

1565.

156.

By which level should the students be

able to write their opinions in the second
language ?

(A) Pre-primary

(B) Lower primary

(C) Upper primary

(D) Upper kindergarten
Bilingualism yields positive results

which can be transferred. This is also
known as

(A) Receptive bilingualism

(B) Simultaneous bilingualism

(C) Positive transfer

(D) Negative transfer

The English languagehas ___ pure
vowel sounds and ______ diphthongs.
(A) 12,8

(B) 10,6

(C) 8,4

(D) 10,4

Which of these is a supply type
question ?

(A) Essay

(B) Alternative response

(C) Matching type

(D) Multiple choice type

157.

158.

159.

160.
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Fill in the blanks type of questions are
type of questions.

(A) Constructed response type

(B) Selection type

(C) Incomplete statement form

(D) Question form

Which type of teaching emphasises

meaning and not forms or patterns in
learning languages ?

(A)
(B)

Communicative language teaching

Competency-based language
teaching

(C)
(D)

Collaborative learning
Cooperative language teaching

In communicative language teaching,
who among the following dominate ?
(A) Teachers

(B) Facilitators

(C) Students

(D) Presenters

In English teaching, which of these
methods allows the teacher to choose

elements from a number of other
methods ?

(A) Eclectic method
(B) Constructivism
(C) Collaborative method

(D) Competency based education
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161.

162.

163.

164.

The most effective way to teach an
occupational skill is to

(A) Classroom teaching

(B) Through art and drama

(C) Jigsaw method

(D) Demonstration method

Which of these methods is/are merits
of using the lab method to teach ?

(A) Based on the principle of learning

by doing
(B)
(&)
(D)

Time consuming
Suitable for lower class
Both (A) and (C)

Which of these is the opposite of the
analytic method ?

(A) Jigsaw method

(B) Lab method

(C) Synthetic method

(D) Prose teaching

What is required to be a good
communicator ?

(A) Good teacher

(B) Good student

(C) Good listener

(D) Passive listener

165.

166.

167.

168.
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Poor eye contact reflects which of the
following ?

(A) Feeling comfortable

(B) Hiding the truth

(C) Sincerity

(D) Empathetic personality

In a classroom, when the teacher is the
focus of attention, he/she is known as
(A) The prompter

(B) The resource

(C) The tutor

(D) The controller

The teacher acts as which of the
following in a classroom in which the

teacher should be helping students
only when necessary ?

(A) The resource

(B) The organizer

(C) The assessor

(D) The participant

The teacher takes on the role of ‘the
prompter’ when he/she

(A) Becomes the centre of focus

(B) Is a walking resource

(C) Encourages students

(D) Takes part in classroom activity
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169.

170.

171.

172.

The four ‘Cs’ of 215! century leamning
and innovation skills does not include
which of the following ?

(A) Classroom control

(B) Communication

(C) Collaboration

(D) Creativity

The innovator of the behaviour
modification source model was

(A) B.F.Skinner

(B) Resk

(C) Asubel

(D) N. Good

Which of these is characteristic of good
teacher-student relationships ?

(A)
(B)

Using corporal punishment

Using appropriate level of
dominance by the teacher

(©)
(D)

Using spanking as punishment

Using minimal levels of warmth
and acceptance in class by the
teacher

In the process of communication,
‘written media’ is part of which of the
following ?

(A) Sender
(B) Message
(C) Channel

(D) Non-verbal message
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173. In the process of two-way communication,

174.

175.

176.

‘sender’ is at one end while is
at the other end.

(A) Message
(B) Source
(C) Channel

(D) Receiver

Which is the last stage of the lecture
demonstration method ?

(A) Preparatory phase
(B) Execution phase
(C) Rehearsal phase
(D) Evaluator phase

Displaying sentence strips in the
classroom throughout the school year
to provide continual reminders of key
vocabulary in mathematics teaching is
known as

(A) Labelling

(B) Word wall

(C) Construction

(D) Diagramming

In pedagogical analysis, identifying

different types of learning falls under
stage.

(A) Evaluative
(B) Pre-active
(C) Interactive

(D) Instructional
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177. Which of these is the last stageinlesson | 181. An enclosed area for keeping and
planning ? raising animals or plants for observation
(A) Preparing the ending of the or research is known as
lesson (A) Zoo
(B) Determining the objectives - (B) Vivarium
(C) Selecting instructional method (C) Herbarium

(D) Preparing final outline (D) Botanical garden

178. A statement of purpose for the whole | ygo
lesson which specifies what students
will be able to do by the end of the
lesson is known as

Which of these simulates a dry or a
jungle-like habitat ?

(A) Planetarium

(A) Syllabus (B) Herbarium
(B) Planning format (C) Paludarium
(C) Objective (D) Terrarium
(D) Curriculum 183. A is a sequence of

charts bound together by a ring, hook
or a bracket.

(A) Graphs
(B) Flannel board

179. Complete this statement: ‘Learning
tends to be better when we e

(A) Are more involved

(B) Limit sensory information
(C) Posters

(D) Flip chart

(C) Are less involved
(D) Go from abstract to concrete

184. Which of these is an electronic
resource ?

180. Involvement from a learner is thought
to be passive during this stage

(A) Verbal receiving (A) Specimen

(B) Participating (B) ICT tools
(C) Visual and verbal receiving (C) Verbal material
(D) Doing (D) Model
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188.

A resource should be suitable for the
purpose for which it is selected. This is
known as

(A) Clarity

(B) Simplicity

(C) Visibility

(D) Relevancy

The process of making judgements

based on criteria or standards falls under
which cognitive process dimension ?

(A) Create
(B) Evaluate
(C) Understand

(D) Apply

In cognitive process, constructing
meaning from instructional messages
refers to which ef the following ?

(A) Understand

(B) Analyse

(C) Remember

(D) Evaluate

Which of these specifically refers to

continuous comprehensive evaluation
for summative evaluation ?

(A)
(B)

Day-to-day observation

Students are evaluated for short-
term objectives

(C) Conducted at the end of first and

second semesters

(D) Homework/classwork

189.

190.

191,

192.
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This domain deals with the emotions,
attitudes and interests of the students

(A) Affective
(B) Cognitive
(C) Psychomotor
(D) Developmental
is a tool used for the
measurement of the students’

achievement and is not synonymous
with evaluation.

(A) Evaluation

(B) Education

(C) Test

(D) Summative evaluation

The absence of discrimination on the
basis of a person's sex in opportunities,
allocation of resources or benefits and

access to services refers to which of the
following ?

(A) Gender equality
(B) Gender roles
(C) Gender awareness

(D) Gender equity

The opposite of gender sensitivity is
(A) Gender analysis

(B) Gender blindness

(C) Gender inequality

(D) Gender Parity
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193. Which of these statements is true | 197. Learningthatis organized by educational
regarding ‘gender’ ? institutions but non-credential refer to
(A) Itis a numerical concept which type of education ?
(B) Itis biologically determined (A) Informal
(C) Itis the same as the sex of the (B) Non-formal
person

(C) School-based
(D) Formal

(D) ltis a social construct

194. Which of the following gender
narratives refers to approach focused | 198. Continuing education courses are an
on ‘empowerment’ or increasing the example of which of the following ?
agency of women and giving them the
power to take control of their own lives
often through targeted trainings and (B) Informal education
workshops ?

(A) Non-formal education

(C) Formal course

(A) Women in development approach i ;
(D) High school education
(B) Gender in development approach

(C) Post-structuralism 199. Deliberate and intentional act of killing a
(D) Human Rights-based agpeach female child within one year of its birth
is known as

195. Which of these roles is primary taken (A) Ferale fosticide
up by men ?
(A) Reproductive (B) Sex determination

(B) Community managing (C) Female infanticide

(C) Care and maintenance of work (D) Sex pre-selection

force
200. Which of these statements is true ?

(D) Community politics role :
(A) There is no 1:1 ratio of male and

196. Preference or prejudice toward one female births
gender over the other is termed

(A) Gender role

(B) Gender awareness

(B) The number of male babies is
always slightly higher

(C) There are 105 male babies per
(C) Gender bias thousand female babies

(D) Gender parity (D) All of the above
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SPACE FOR ROUGH WORK

% % & fore Tum


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

% | . MKG-XIITECHPRT-I/1T/01

SPACE FOR ROUGH WORK
% & o foro v

-47-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

be

12.

24

GET IT ON
Google Play

MKG-XIIVTECHPRT-II/1T/01

IMPORTANT INSTRUCTIONS TO CANDIDATES

Sefigamt & ferg wewrgot sew

This booklet contains 48 pages. 12. =& 3%‘7““ i 48 ¥ 21
13. Please check all the pages of the Booklet S < é o
carefully. In case of any defect, please ask the | 13- 3? 3%!&-;[ Gl o3 1 AR FHOET Eh‘{ | =it
Invigilator for replacement of the Booklet. FE 2 7, o e % 38 seon & fou 8 |
14. Directions : Each question or incomplete | 1, iy« uSr WY YT SE dﬁ{{ w2 % 9

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen against
the question concerned in the Answer-Sheet.
(For V.H. candidates corresponding circle
will be blackened by the scribe)

W I FYET [ HYT IR T E | GAH g
# 3Rt feRedt U 1 AT B S URA 1 EE I
2 31YET YU G L 3T TR IT-ATTH H
I9Yeh TR @ A, B, C 1 D@ =fier 11 e
HieA-qig2 99 ¥ Hien (@) FE 2 | (Sfeaiia
Irfteard & fere wwa mener s g
e fewan =)

question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If you
blacken (@) more than one circle againstany one
question, the answer will be treated as wrong.
If you wish to cancel any answer, you should
completely erase that black mark in the circle in
the Answer-Sheet, and then blacken the circle
of revised response.

A machine will read the coded information in the
OMR Answer-Sheet. In case the information is
incomplete/different from the information given
in the application form, the candidature of such
candidate will be treated as cancelled.

Use the space for rough work given in the Question
Booklet only and not on the Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.

15. Mark your answer by shading the appropriate

circle against each questiorj. The circle should | 15 = wog 3 v 3fa o= = ferees =66 31

be shaded completely without leaving any - . i < Ee o
———+  space. The correct method of shading is given I ford | gm0 T g wum o1 femiira = |
il | below. femifeha =1 =1 |aT ot e fear 7 2
m
E I p Wrong Method |[Wrong Method || Wrong Method || Correct Method Ted aifehl || Terd ARt || Tere aiien ARG
“Sm ORQO0I0OLCOIC®OOI0Oe0 0 O®00|I0OVO0IC®00ICe0 0
m 8 Ul The Candidate must mark his/her response 3eRff &7 AT I w—mr@'q; g =R %
; e g after careful consideration. Iyt et s =z |
i 16. There is only one correct answer to each | 16. YcIe Y¥H &1 Hacl UH & T&l I 2 | 395!
-~

YT HIaH JAT A, B, C 31 D % TR
T i el (@) F1 & | Aafg s R w
YA U ¥ 3 TR @ B 9 (@) @
FATYRT ST H SRR | Afg 31 feRef 3w
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Go through instructions given in Page No. 1 (Facing Page)
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